
C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 1 OF 11SCALE: 1:15

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



 2
13

0 

 2130 

 2
13

0  R2130 

 R2130  R2130 

 R2130 

 4998 

 5
76

0 

 738 

 1
50

0 

 2130 

safety area

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 2 OF 11SCALE: 1:40

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



 4998 

 5
76

0 

 2080 

300 

400 

400 400 

400 

 740 

 7
01

 
 7

01
 

 2
17

9 

foundation

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 3 OF 11SCALE: 1:40

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



 1500 
 2

53
9 

ground

 400 

 6
00

 

 3
00

 

 738 

 6
00

 
 3

00
 

concrete

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 4 OF 11SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



11

4
2

5

33

ITEM 
NO. PART NUMBER

1 post 98x98x2550 2
2 climbing panel 1
3 post L-3095 2
4 climbing net 1
5 rope 1

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 5 OF 11SCALE: 1:25

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



wooden post

10

9

8
7

5

4

5
7

8

3

1

6 6

ground level marksground level marks

22 2

ITEM 
NO. PART NUMBER

1 ground fixing L-900
2 plastic detail for ground fixture
3 bolt M10x120 DIN603
4 bolt M10x110 DIN603
5 nut cover M12
6 washer M10 DIN9054
7 nut M10 DIN985
8 nut cover cap M12
9 plastic cap 115x115
10 wood screw 6 x 90

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 6 OF 11SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



alumimium post

3

1

11
10

8

6

8
10

11

7

4

9

9

ground level marksground level marks

3
2

55
5

ITEM 
NO. PART NUMBER

1 plastic cap 115x115
2 plastic cap 98x98
3 wood screw 6 x 60
4 ground fixing L-900
5 plastic detail for ground fixing
6 bolt M10x110 DIN603
7 bolt M10x120 DIN603
8 nut cover M12
9 washer M10 DIN9054
10 nut M10 DIN985
11 nut cover cap M12

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 7 OF 11SCALE: 1:11

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



31
2

6789 5

4

6789 climbing panel

ITEM 
NO. PART NUMBER

1 metal slat 40x20x1304, 5 holes
2 metal slat 40x20x1304, 4 holes
3 plastic slat 50x15x1490
4 bolt M10x60 DIN603
5 bolt M10x70 DIN603
6 nut cover M12
7 washer M10 DIN9054
8 nut M10 DIN985
9 nut cover cap M12

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 8 OF 11SCALE: 1:17

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



A

DETAIL A
SCALE 1 : 10

2345
1

ITEM 
NO. PART NUMBER

1 bolt M10x100 DIN603
2 nut cover M12
3 washer M10 DIN9054
4 nut M10 DIN985
5 nut cover cap M12

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 9 OF 11SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



B

C

DETAIL B
SCALE 1 : 10

3456
2

DETAIL C
SCALE 1 : 15

3456 1

ITEM 
NO. PART NUMBER

1 bolt M10x120 DIN603
2 bolt M10x130 DIN603
3 nut cover M12
4 washer M10 DIN9054
5 nut M10 DIN985
6 nut cover cap M12

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 10 OF 11SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324



D

E

DETAIL D
SCALE 1 : 102345

DETAIL E
SCALE 1 : 10

1
3

4
5

ITEM 
NO. PART NUMBER

1 nut cover M12 for beam 
2 nut cover M12
3 washer M10 DIN9054
4 nut M10 DIN985
5 nut cover cap M12

C

2 31 4

B

A

D

E

F

TSV202 MF

21.07.2023M.Rebase

WEIGHT: 

A4
SHEET 11 OF 11SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Inclined climbing wall

Artikelnummer: 7324




